PGT GEOGRAPHY

1. Who launched the 90-day campaign 'Azadi Se Antyodaya Tak'?
(A) Amit Shah

(B) Piyush Goyal

(C) Kiren Rijiju

(D) Giriraj Singh

Correct Answer: (D)

2. Which country signed agreements on training staff and IT cooperation to deepen railway
cooperation In Sep 2022?

(A) Russia-India

(B) Ukraine-Turkey

(C) India-Bangladesh

(D) America-India

Correct Answer: (C)

3. The “Donbas War” is currently being fought in
(A) Serbia

(B) Ukraine

(C) Syria

(D) Lebanon

Correct Answer: (B)

4. Pedagogy is the study of
(A) education

(B) learning process

(C) teaching methods

(D) guiding students

Correct Answer: (C)



5. Dyslexia is associated with
(A) mental disorder

(B) mathematical disorder
(C) reading disorder

(D) behavioural disorder

Correct Answer: (C)

6. Which government organizations will develop guidelines for the education of gifted
children?

(A) NCERT and NCFCS

(B) NCERT and NCTE

(C) NCERT and NTA

(D) NCERT and SCERT

Correct Answer: (B)

7.While entering the plains, River forms features like flat valleys, ox-bow lakes, flood plains,
braided channels, and deltas near the river mouth, does the activity of --

(A) Aggradation
(B) Deposition
(C) Levelling
(D) Erosion

Correct Answer: (B) Deposition



8. Which watershed development project sponsored by the Central Government which aims
at enabling the rural population to conserve water for drinking, irrigation, fisheries and
afforestation

(A) Haryali

(B) Neeru — Meeru

(C) Arvary Pani Sansad

(D) Johad

Correct Answer: (A) Haryali

9. Assertion (A): Transportation of people and goods by road transport is not new in India.

Reason (R): Since ancient times, pathways and unmetalled roads have been in use for this
purpose.

(A) Both A and R are true and R is the correct explanation of A.

(B) Both A and R are true but R is NOT the correct explanation of A.
(C) Ais true but R is false.

(D) Ais false and R is true

Correct Answer: (A)

10. Consider and evaluate the following statements and choose correct option from the given
options

I. Very large volumes of mail continue to be handled by post offices all over the world
I1. All forms are not fully disassociated because of the cheapness of the older system
Options-

(A) Only 1 is true

(B) Only 2 is true

(C) Both 1 and 2 are true and statement 2 correctly explains the statement 1

(D) Both 1 and 2 are true but statement 2 does not explain the statement 1 correctly

Correct Answer: (c)



11. Arrange the four stages of demographic transition in the correct order:
(i) Pre- industrial stage

(i) Urbanizing/industrializing

(iii) Mature industrial

(iv) Post-industrial

OPTIONS:

(A) (1), (i), (i), (iv)

(B) (iv), (i), (iii), (i)

(C) (i), (iv), (i), (ii)

(D) (i), (1), (iii),(iv)

Correct Answer: (A) (i),(ii),(iii),(iv)

12. Assertion (A): Market gardening and horticulture specialise in the cultivation of high
value crops such as vegetables, fruits and flowers, solely for the urban markets.

Reason (R): It is both labour and capital intensive and lays emphasis on the use of irrigation,
HYV seeds, fertilisers, insecticides, greenhouses and artificial heating in colder regions.

(A) Both A and R are true and R is the correct explanation of A.

(B) Both A and R are true but R is NOT the correct explanation of A.
(C) Ais true but R is false.

(D) Ais false and R is true

Correct Answer: (B)

13. “Neither is there a situation of absolute necessity and nor is there a condition of absolute
freedom, human beings can conquer nature by obeying it”.

Above mentioned lines are correctly defines the concept of—
(A) Possibilism

(B) Determinism

(C) Humanism

(D) Neo Determinism

Correct Answer: (D) Neo Determinism



14. Consider and evaluate the following statements than choose correct options for them from
the given options.

1. Many species now have become extinct or endangered due to illegal hunting.

2. The early hunters used primitive tools made of stones, twigs or arrows so the number of
animals Killed were limited.

Options;

(A) Only statement 1 is correct

(B) Only statement 2 is correct

(C) Both statements 1 and 2 are correct
(D) Both statements are incorrect

Correct Answer: (C)

15. Consider the following statements and choose the correct option for the same from the
given options-

I. Improvements in the standard of living and increased leisure time, permits many more
people to go on holidays for leisure.

I1. The opening up of tourist areas has been aided by improvement in transport facilities.
Options-

(A) Both statements I and Il are correct and also complimentary to each other

(B) Both statements | and Il are correct but they are not related to each other

(C) Only statement Il is correct

(D) Both the statements I and Il are invalid

Correct Answer: (A)



16. Consider the following.
1.Electromagnetic radiation
2.Geothermal energy
3.Gravitational force
4.Plate movements
5.Rotation of Earth
6.Revolution of the Earth

Which of the following above are responsible for bringing dynamic changes to the surface of
the Earth?

(A)2,4,5and 6

(B)1,2,3and 4

(C)1,2,3,4,5and 6

(D)1,3,5and 6

Correct Answer: (C)1,2,3,4,5and 6

17. Which of the following is the correct order from west to east sequence of the following
Hilly Castes?

(A) Jaintiya — Naga — Garo — Khasi

(B) Garo — Khasi — Jaintia — Naga

(C) Naga — Jaintiya — Khasi — Garo

(D) Khasi — Garo — Naga — Jaintia

Correct Answer: (B) (Garo — Khasi — Jaintia — Naga)



18. Although the equatorial regions have the highest annual average temperatures, the salinity
in the oceans is highest near the tropics because:,

1. equatorial areas receive heavy rainfall,

2. salinity is not affected by temperature,

3. equatorial oceans experience a lot of turbulenees,

4. high relative humidity in equatorial areas checks evaporation
(A)12and 4

(B) 1and 3

(C)13and 4

(D) 1and 4

Correct Answer: (A)

19. What could be the main reason / reasons for the formation of African and Eurasian desert
belt?,

1. It is located in the sub-tropical high pressure cells.,

2. It is under the influence of warm ocean currents.,Which of the statements given above
is/are correct in this context?

(A) 1 only

(B) 2 only
(C)Both 1 and 2
(D) Neither 1 nor 2

Correct Answer: (A)



CASE STUDY BASED QUESTION:

Read the Case Study given below and answer the questions that follow:

The sex ratio is important information about the status of women in a country. In regions
where gender discrimination is rampant, the sex ratio is bound to be unfavourable to women.
Such areas are those where the practice of female foeticide, female infanticide, and domestic
violence against women are prevalent. One of the reasons could be the lower socio-economic
status of women in these areas. You must remember that more women in the population do
not mean they have a better status. It could be that the men might have migrated to other
areas for employment. In general, Asia has a low sex ratio. Countries like China, India, Saudi
Arabia, Pakistan, Afghanistan have a lower sex ratio. On the other extreme is the greater part
of Europe (including Russia) where males are in minority. A deficit of males in the
populations of many European countries is attributed to the better status of women, and an
excessively male-dominated out-migration to different parts of the world in the past.

20. Why do European countries have less male population?

(A) Patriarchy society

(B) Domestic violence

(C) Male infanticide

(D) Better status of women

Correct Answer: (D)



